21024 LOT 1A

Point#1 10000.000 10000.000
87 6 35 457.180

Point# 2 9976.151 10456.558
12 10 34 44,880

Point#3 9932.280 10466.023
87 0 35 217.270

Point # 4 9943.614 10245.045
i3 20 37 196.900

Point#5 9752.030 10294.4G2
5 59 1 206.070

Point#6 9547.083 10273.010
84 0 58 65.000

Point # 7 9553.859 10208.365
5 58 i 112.550

Point#8 9441.922 10196.632
31 35 27 45.350

Point #9 9403.258 10220.409
62 26 55 40.130

Point # 10 9384.696 10255.985
5 58 1 32.500

Point # 11 9352.373 10252.601
86 56 0 178.800

Point # 12 9352.165 10073.801
0 3 33 400.030

Point # 13 9752.195% 10073.388
16 25 40 258.460

Point # 14 10000.018 10000.005
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AREA = 135,089.13 sf {3.1012 acres)
LENGTH = 2255.16

NORTHING ERROR = +0.019 EASTING ERRQOR = +0.005
LINEAR £ERROR=N 15 4 33 E 0019
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231024 LOT 2A

Point#1 10000.000 10000.000
5 87 0 35 E 217.270

Point#2 9988.666 10216.974
N 12 10 34 W 44.880

Point#3 10032.536 10207.508
S 87 0 35 & 22190

Point # 4 10031.379 10229.668
5 12 10 34 E 265.580

Point #5 9771.773 10285.683
S 15 24 57 W 384.730

Point # 6 9408.922 10157.791
5 89 56 0 W 154.240

Point#7 9408.743 10003.551
N 5 59 1 E 32.500

Point # 8 9441.066 10006.939
N 62 26 55 W 40.130

Point # 9 9459.628 9971.360
N 31 35 27 W 45.390

Point # 10 9498.291 9947.582
N 5 59 1 £ 112.550

Point # 11 9610.228 9959.315
5 84 0 59 ¢ £5.000

Point # 12 9603.452 10023.961
N 5 58 1 E 206.070

Point#13 9808.400 10045.442
N 1320 37 W 196.900

Point# 14 9999.984 10800.600
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AREA = 134,825.62 sf {3.0952 acres)
LENGTH = 1787.43

NORTHING ERROR =-0.016

EASTING ERROR = +0.000
LINEARERROR=S5 1 26 7 W 0.016
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21024 PORTION FROM LOT 1 TO LOT 2

Point#1 10000.000 10600.000
N 5 59 1 112.550

Point # 2 10111.937 10011.733
S 84 0 59 65.000

Point # 3 10105.161 10076.379
S 5 59 1 163.280

Point# 4 9942.771 10059.358
N 62 26 55 40.130

Point#5 9961.332 10023.778
N 31 35 27 45.390

Point#6 9859.996 10000.001

AREA = 9,431.70 s (.2165 acres)

LENGTH = 426.35

NORTHING ERROR = -0.004

LINEAR ERROR =S5 13 19 24 E 0.004

EASTING ERROR = +0.00%
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21024 PORTION FROM LOT2TO LOT 1

Point#1 10000.000 10000.000
) 87 0 35 218.230

Point #2 9988.616 10217.933
S 12 10 34 44.880

Point#3 89944.745 10227.399
N 87 0 35 217.270

Point # 4 9956.080 10010.425
N 13 20 37 45.140

Point#5 10000.001 10000.007

AREA = 9,432.09 s (.2165 acres)

LENGTH = 525.52

NORTHING ERROR = +0.001

LINEARERROR =N 82 15 31 E 0.007

EASTING ERROR = +0.007
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